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Tt (MATHEMATICS)

26, 33x3) L@ HEAAE- | 126, The value of (33 x 3) + (3 = 3) is -
| (A) 98 : : e (A) 98 f '

‘® 99 . - e (B) 99.

"(C), 100 - - (©) 100

©® 33 . . (D) 33

‘527. By e o rm TR S 27. Th.e average ofvfirs.t ﬁy_e‘even
) : I numbers will be - N

Aoe - s e

-(A)G"'a. : ‘ A 6
- (®) 5 o T my s
- (©) 4 - o (C) 4
© 2 | R COF:
28.'%@11?[3415{@-‘ . 28. Fill in the blank - -
625 + ~-=-- = 25 625+ —-mmm- = 25
(A) 25 | | | (A). 25 |
i (B) 625 (B) 625
1 (@© 1 o L. =1
| (D) 250 - - (b) 250

'29_‘ U6 HUe H e SpvE B Y - 29. How many seconds are there in one

g hour —
70 .
oy 4 o
(B) 1200 (B) 1200
C) 2400
s o © 2en
: 600 Tooe
P (D) 3600
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- 30..
B -
(A) 20

- (B). 25
(C) 30
" (D) 40 -

A3

(A) 25%
(B) 20%
(C) 75%
(D) 50%

(A) 10
(B) 15
() 8

(D) 9

a‘raﬁms’ﬁaﬂqﬁm‘sﬁm
o 27% .. |
- (B) 9%
(©) 21%

(D) 30%

RGNV/22 | | |

200 71 & fepe e 5 fopuT. & SRR 30.

31. 75, 0 oo wRemge 0 O

32. 15- {8~ (5-3)} s am- | 32

33. oft 30 ferenfSialt o e 9 21 TP & 33.

How many packets of 200 gm.
make 5 kg. —

(A) 20
(B) 25

(C) 30
(D). 40

What percentage of 30 is 7.5 ?
(A). 25% |

(B) 20%
(C) 75%

(D) 50%

The value of 15— {8 = (5 - 3)2 will
be - | | .'
(A) 10

(B) 15

(C) 8
(D) 9

If there are 21 boys in a class of

30 students then the percentage

- of giris will be -

(A) 27%
(B) 9%

C(C) 21% - - -

(D) 30%
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34.

' 37.

" 38.

2 56%«:11 qumrrﬁ%?mr
(A) 22.56 UM
(B) 0.256 79
(C) 256 U™

~ (D) 2560 UM

0.75 &1 KEiGs 7 N -
(A)
(B)
(©)
(D)

WD WIN D W R

| 3e.>aﬁﬁﬁﬁ?§r.§ﬁaﬁm'5‘.6 <. 2 ar

gt o 8 - (o n - 22)
(A) 1763 |
(B) 1:76 T,

(C) 17.6 T,

(D) '0.176 [,

isaﬂg"go ﬂ-@rﬁimsﬁ,’mﬁ%-
‘(A)i 3:10

(B) 10 : 3

(€) 5

@) 611

zri%:mﬁm maarw%seo%a‘rs
fosu. smmeg w1 eer @ -

(A) T180 .

(B) T240

(C) %300

(D). %120

34.

35,

36.
: then lts arcumference will be -
.(II <7tA= —7—~)

37.

38.

(D)

The value of 2.56 Kg. in gm. will
be- . .
(A) 22.56 gm.
(B) 0.256 gm.
(C) 256 gm.
(D) 2560 gm.

A1

The fractional vavl.ue of 0.75 will be-

(A)

(B)
©)

WD WN DNw D=

If the diameter of acircle is 5 6 cm.

(A) 176 cm.
(B) 1.76 cm.
(C) 17.6 cm.
(D) 0.176 cm.

What is the ratio between ¥ 3 and

90 paise -
(A) 3:10
(B) 10:3
(C) 5:10
(D) 6: 11 .

If the cost of 12Kg. Potato is ¥ 360,

then.cost of 8 kg. Potato will be - -

(A) % 180
(B) ¥ 240
(C) % 300
(D). T 120




30, Prgst ABC | x0T IIFT g 39. In triangle ABC, the value of x° will
A -

be -

oy so0 N Rk

(B) 80° , o (B) 800
(C) 40° o (C) 40°
(D) sﬂﬁ%aﬁéﬂ‘é‘f | C (D) None of these
40, 16 -12+4x 3 + 14$rI|T:raTJ1T - 40. The value of 16 - 12 + 4~_v><‘3,'+ 1.
' " : ' - will be -
(A) 4 » . (A) 4
® 8 e 8
(C) 16 " . (©) 16
o 40 (D) 40
41. @ GE-3I9TI H@TﬁBﬁ FI II'E?FCT 41. The HCF of two ‘co-prime numbers
.. ] : . %- e . . is _ .
A) 1 S e
(B) 0 oL T (B) 0
- (C) 2. (C) 2 | |
-(D) 3:@@(@%:@ - - (D) None of these
42 18 3ﬂq 24 x1 3‘341;]%55 Wug‘r Gl 42. The number of commor{ factors in
G@T%" : 18 and 24 are - ;
) 1 | Ay 1
® 8 . . (B) 8
(C) 6 - - ©es
) 4 _ ‘ (D) 4
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(A) 18
" (B) 17

(C) 14
(D) 19

. 45678 ¥ 6 % i W B 3ifa W

T 3R 8N -
(A) 600
(B) 594
(C) 606

(D) 94

. T 12000 &7 4% TSP AT BT R T2 -

T T TR SATST B -

A) 900

(B) 930

(C) 920

(D) 960

: snﬁmgﬁﬁgﬁésmﬁks&mnaﬂtmqéwn
s ) i

(A) 90°.
(B) 60°
(C) 120°
(D) 30°

43.

44,

45,

46.

(A)

1

The next term of series 3, 4, 6, 9,
13----is-

(A) 18

(B) 17

(C) 14

(D) 19

The difference between placé value

and face value of 6 in 45678 will

be -

(A) 600 -
(B) 594
(C) 606
(D) 94

. The . Simple interest of ¥ 12000 at -

the rate of 4% per annum for 2
years will be - ’

(A) 900

(B) 930

-(C) 920

(D) '960

Each angle of an equilateral triangle

. is =

900

(B) 60°

- (C) 1zoa;

(D) 30°




- 47. 16, 80 T 48 FT T - FATE - 47. The L.C.M. of 16, 80 and 48 is -

(A) 8 ' ) ' ‘ (A) 8
(B) ' 16. . o o ‘ (B) 16
(C) 240 | | - 0
(D) 480 | . . (D) 480
48. T Habd UGt | Cﬁﬂﬂ% - - 48. The value of C in Romaﬁ notation
(A) 50 .o
B 100. (A) 50
) - ' - (B) 100.
(€) 500 o (C) 500
(D) 1000 - | - (D) 1000

49. The diameter of the circle is ..

49. T Ol A BT S -

(A) 4 x radius

(A) 4 x L (B) 2 x radius
(B) 2 x B55dI . . -
 radius
© = o 9
: ' | -radius
() [EELIR ) - ®) =5

- - 50. The area of a semicircle is -

o, sithge o A A -

(A) mr2 o o A e B
C®) 2w - o (B) 2w .
@i © b

(D) 2nr - (D) 2=nr
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52,

qﬂﬁasuﬁm?n (MENTAL ABILITY) -

. 3ﬁ¢ﬁ§m§ézraﬂzﬁk7%n<nﬁxﬁp

(A) 264

~(B) 274

(C) 28af
(D) 296#

- B # v e 5 Rewnea o

T BRI B -
(A) 7
(B) 8
(C) 9

(D) 11

aﬁma?rqf%@mwmﬁ"

e e e -

-~ (A) s

(B) TREER

(©) ez TR
(D) TUWEd

.'ggaﬁ375rﬁmﬂaﬁﬁf%-. |

(A) THT SO
(B) I g€ o

. (C) . T R g

(D) T A ST
. T TETGR ST 88 ST TS S
. g—_

(A) 14 Ta%R &
(B) 2 3MGEER Bl
(C) 26 SFERY B
(D) 15 AT &I

12

51.

52.

Which state is Uttarakhand in: the '
country?
(A) 26th
(B) 27th

(C) 28th

(D) 29th

The number of players of a side in
Kho-Kho game is -

(A 7

53.

. in"terms of area is -

54,

55.

©)

- (B)

(B) 8
(C) 9

(D) 11

The smallest district of,Uttal;akhand

(A)
(B)

Rudraprayag
Bageshwar
Udhamsingh Nagar .
(D) Champawat
The
(A)

motto of Doordarshan is-
Satyamev jayate

Satyam Vad Dharmam Char
(C) Satyam Shivanﬁ"Su-nd.afa'm
(D) Tam So Ma Jyotirgamaya

Lal Bahadur Shastri's birth anniversary
is celebrated o‘n..- A

(A) 14 November

(B) 2-October

(C) 26 January )

(D) 15 August - |




56.

57.

58

59.

mmﬁawﬁmﬁﬂ‘@aﬁém
IR & FaT 8? -
(A) AT
(B) g g g oo
(c) safee B

(D) ‘td*(lalflﬂcld-ilﬂqud-lluml*i %‘I

o

eWmaﬁWaaaaaqﬁanmer'

R S P S

SETINT b SEA! 2P

(A) WHIRER

(B) 3Acih~al
(C) g

(D) ﬂv—.cu%fr’f

O & s %WT‘\ET qTeTaT T a?rancu
%

(A) I

(B) &Y=

(C) BicT

- (D) el

~ 60.

 RGNV/22

Wﬁ'ﬁﬁﬁﬁ TRA SRR’ 1% PR
BT BHYLR &7

(A IS BRYR

(B) iy Hregex
(C) HTHH B
(D) IR DL

56.

- 57.

58.

~ from Kedarnath to'Rudraprayag?

59.

60.

- (B)

(D) Super Computer

Mahatma Gandhi's name s
associated with whlch of the
following slogans? i

(A) Do or die
- You give me blood, I will give -
you freedom

Jai Hind

Swaraj is my birth right.

(C)
(D)

Deficiency of which Vitamin causes

biood not to clot?

(A) Vitamin'D' -

(B) Vitamin 'K'
(C) Vitamin'C'
(D) Vitamin 'B'

Which of the following river flows
(A) Bhagirathi

(B) Alaknanda
(C) Saryu

(D) Mandakini

From which part of the plant is
Cinnamon obtained? - |

(A) Leaf

(B) Seed

(C) Bark

(D) Bud

What type of computer is the
'Param Computer' manufactured in
India?

'(A) Micro Computer

(B) Mini Computer _
(C) Mainframe Computer

[ Turn over]
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71. 12,11, 13, 12, 14, 13, 2
" (A) 10 |

(B) 16

(C) 13

(D) 15

72. 48,24, 12,2
(A) 8
(B) 6
(C) 4
(D) 2

73. RQP, ONM, LKJ, IHG, 2
(A) CDE
(B) LKI -
(C) FED
(D) BAC

74, 3,5,9,17, 33, 2
(A) 44
"(B) 65
(C) 64
(D) 49

75. ZCF, YBE, XAD, WZC, 2
L (A) vuY |

(B) VYB

(C) VYU

(D) YVU

S

‘{?RGNV/ZZ

Directions (Q.No. 71 to 75) : In the _
following questions a sequence is
given. Select the next term of

~ sequence from the given alternatives.

71. 12, 11, 13, 12, 14, 13, 2 "

- (A).10 -
(B) 16
(C) 13
(D) 15

72, 48, 24,12,2

(A) 8
(B) 6
(C) 4
(D) 2

73. RQP, ONM, LKJ, IHG, 2
(A) CDE -
(B) LKI
(C) FED
(D) BAC

74. 3,5,9,17, 33,2
(A) 44
(B) 65
(C) 64
(D) 49

75. ZCF, YBE, XAD, WZC, 2
(A) VUY
" (B) VYB.
(C) VYU
(D) YVU.




76.

77.

~ 78.

79.

€

gig -AT=20, BT=40, CT—60 a‘r DT

T | BT -
(A) 30
(B) 50
(C) 100

(D) 80

i Tohell 18 &1 2 TRIG &I AJaR a1

ﬁrmnﬁrﬁmaﬁ@aﬁm
(A) JgaR

(B) HHaR

(C) TEaR

(D) §mR

g e Rt 8 & T S (?) S

W
u
~N

(A)  9
(B) 2

. (C) 8

(L) 7

et 3 wifeet (IRRET) @Y BT ST S

Ay @
(B) el -

- (C) ™

- -80.

‘.(D)G'TW

War:ﬂwmasﬁar?raa‘sﬁrﬁ%‘
(A) ¥fomFit

(B) TWEE

(C) ST

(D) W%ﬁﬁ’r
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76.

.77,
© 18th of that month Wlll be -

78,

79.
- (A) Circle

80.

If AT=20, BT=40, CT=60 then DT =

will be equal to -
(K) 30
(B) 50 S .

(C) 100

(D) 80
If 2nd of a month. was Sunday’thén

(A) Sunday )

- (B) Monday

(C) Tuesday |
(D) Wednesday

Find the missing number (?) from
the given alternatives - '

8(11(6
3(5(7] °
41?212

(A) 9

(B) 2

() 8

(D) 7

The model of the earth is called a - -

{B) Sphere
(C) Globe R
(D) Marble I

Those who study earthquakes are
.called - s

(A) Geologist -

(B) Astronomets.

(C') Astrologers

(D) -Seismologists

[ Turn Ovér] '
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sﬁwmm?ﬂﬂisﬂ?ﬂ‘\@rﬁ@%éiﬁﬂmunsu 3R 3P § ¥ a8 e
ST BifSTE 5T yertareres foree (?) o oI TR X ST Webell &-

‘Dlrectlons (Question No. 81 to 85 ) : Three problem ﬁgures have been given on |

82,

‘83,

: 85.

:
!

181,

the left side and a question mark (?) has been given in place of fourth figure: A
definite relation is established between first two problem figures. The same type
of relation should be between the third and fourth figure. From the answer figure

findout that optlon which can be placed in the place of questlon mark—

'Wﬁ@ia (Problem‘Flgure) ' BECSAS 311@5% (Answer Flgure) |

AlS|el2 |  |<>le|lm 3

e R @ ® (@ (D
W%@%.(‘Prbblem Figure) o 3?1?31@% (Answer Flgure)

D@l ol ? | =gllas]las aul

(A)  (B) (C)y . (D)

?FR?JT CIGA] (Problem Figure) 3?17{34@% ‘(Answer Figqrg) '
O ) 11 7? o ,|r+ll"| T s e O
LW ® © O
: WWTST@% (Problem Figure) | 3?1?311@3% (Answer Figure)
| 1 : | | , ~ - .
HFH IO 2 1€ O
" e W ®  © (D
T 3MPIcT (Problem Figure) L SRR P (Ansv_s)er Figure)

@ OA | ?. lD | n: @ o..
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et (s T 86 =Y 90 ) - ﬁw%%amﬁaﬂa@%a‘f@mé%l IR AT
A %ﬁ%ﬁﬁ %‘lﬁﬁﬁ@%ﬁqﬁm '
v
.Dlrectlons (Questlon No. 86 to 90 ) : In ‘the following questlons four figures are
given. Three of them are snmllar (ahke) in a certain way and one is odd Fmd the

~ odd ﬁgure

86,
@w . ® © D)
87 o | o
> e o e
@ | /A
™ ® (© G
89, ST .
@ ® © (D)
.90. | ' » .

%
.
o

| | @ - ® (© o™
N RGNV/22 . | | | o | [ Turn Over]




o1,

92

‘94,

95,

- B3,

T

$

‘ . rfeT (7w 91 ﬁgsaﬁ) wmmy@%mmmma@m%l W

ST P A BB BT IR SNPRraT § & gFe -

Directions (Questlon No. 91 to 95 ) : There is a problem ﬁgure in the left side and

answer figures are in the right side..Choose the S|mllar figure as problem figure

from the answer flgures

T 34'@% (Problem Figure)

X
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,Direétions (Question No. 26 to 100 ) : Inthe fqllowing questibhs, a'_problenj figure

is given which is incomplete. Find the correct alternative from, the given options
which: co'mplete problem figure.

96. WBTI@% (Problem Figure) L 3?1?31@5% (Answer F.i‘gure) "
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| 100.FHT 3BT (Problem Figure)

99. THT 3 (Problem Figure)
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